2 glojuAle.

<

op

23091

o
~—

wrakA] 23091




..._“_..u
P

1_]_._

Zo

o7t Zomz vl
2] 5t ol




)

e[ FE A0

%

37

ul
RO

43

}q}]

WeAlS A Al

CERES

WAl Aol gl




4. o

% Bol 5 A2 9 2L o= AU

oo

O 254 +30 @ 873+90 ® 508 =60
@319 =20 ® 625 =70

B

D254+30=8---14
@ 873+90=9---63
® 508 + 60 = 8---28
@319+20=15---19
®625+70=8---65




5. =T %ol F A 27 He AL ok AAA] A5HA L,

® 563 =70 @ 450 + 50 ® 807 +82
@729 + 68 ® 967 +~ 98

B

U 8 Yirol 2= 9] X0 A1

T+ 22 8] £ v wstd

@ 56 < 70 (3 A=)

@ 45 < 50 (2 A=)

® 80 < 82 (3 A=)

@ 72 > 68 (% AE)

® 96 < 98 (3 At ) ol B2

whebA] o] £ 2 471 Hi= UeAl2 @ ol




olJ
L

Nfo

=l gAgle] F Ho] Hoj A =rt ]

i




Fof Lehd a1

S

58 24

of

111 .
.ﬁo
A~ X
0 3
o -
N
i oY
o Ho
of ~
i o)
Z0 i
@m ~
!
[TTTTTTT T se
(@) Lo (@]
= o
oD
P =0
& 4 B
¥
ok
H|

st

N

ul
%0




8.

[ relloollq 9717] o= 45 Yol

Hlste] Ol >, =, <& A 9 2

(1) 68951340 O 680243810

(2) 898 [3 Jor4s621 08 Jre54 3213 Ji

® <, < @<,> ® <, = @ >, = ® >, >

~&B

(1) A& = 9&=] F0]2L

9BZ 0 4L 107He]0] $o]BR 0B 47} 5 FUTh
(2) 5 &= B 13242 9] ot oo v A=t ¥l st
@898 | © & 614 & > ©o] Ytk

@l [ ol 71 Z& 00] 2.3

©2[ ]l 7 2 97} 9 oiakE 8980 > 8976 0] =7 R
=




_ 2
st 707 ke AUk B9l BRA 257 ke

_@_

3} 5] BRAS

,_.__.o,.o

00

v
0 =

[ap]

—

©

<) o0
4 4
A D~ b~
[a\] <
— —
Q@ ©

o0

g k
o~ b=
[a\| <
— —
e (&

=1}

(54)= 282 (ke) !

2 3
28% — 422 (k
- 7( g)

5
7

(¥)="10

(ke) H FHSUH.

1
14-
7

2
28—
7

o
7

watA] 42




10.

B

H7]
7 1 3
@5—2§ @7—65 @10—7§
® 9,0, @ 9,6, 3)O,Q,®
@ 0,60 ® ©,0,0

7 9 7 2
— G = A= =9
Q@5 9 9 9 9
1 9 1 8
©T-65=65-65=3
3 9 3 6
10-72 =9= 72 =2~
© 9 9 9 9
At B} e SAY R et

©, 9, EY¥YH.




